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5 x 3 = 15
factor factor product

part part totalcommutative property

3 + 3 + 3 + 3 + 3 = 15
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5 x 3 = 15

3 x 5 = 15

5 groups of 3.  Draw 5 groups. Put 3 dots in 
each group. Count the total number of dots to 
get your product.

3 added 5 times.  Add 3 five times.  The sum of
3 added 5 times is the answer to 5 x 3.

The commutative property of multiplication 
tells us that the factors can be multiplied in 
any order and the product will be the same.

so if

then

x

=

5 rows of 3. Draw 
5 dots down and 3 
dots across.  Fill in
the dots so your 
rows and columns 
are all equal. 
Count all of the 
dots to find your 
product/answer.

5 jumps of 3.  Start at zero and Skip count by 
3 5 times.  The number you end at is the 
product.
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